| dE/dx estimator 1 |

0.25

0.2

0.15

0.1

0.05

...............................................

Entries
Mean

184339
2.376
1.524

Std Dev

J

Entries
Mean
Std Dev

184339
2.376
1.524

.....................................................

Ratiq
&

=
TT T T T T 1T

o
©
o1

o

6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.2

0.15

o
=
T T T T [ T T 11

o

o

a
|

Entries
Mean

184339
2.227
1.448

Std Dev

J

Entries
Mean
Std Dev

184339
2.227
1.448

........................................................

0.95

6 7 8 9 10

dE/dx, trunc40

—=— DQM_V0001_R000000001__Global
— DQM V0001_R000000001__Global

__mkFit_batchNO
__mkFit_batch16

0.1

CTTaTeS
Mean
Std Dev

TOFOOT

5.939
5.203

]

Entries
Mean
Std Dev

184339
5.939
5.203

0
R S T T

OO

L A e S R

Ratio

'l|111111111111|||

-I|]HIIIHIII]|||

r

0.95%

0 10 20 30 40 50 60 70 80
dE/dx number of measurements

CTIaTeS
Mean
Std Dev

0.6911

184339
0.3423

]

Entries
Mean

184339

0.3423

Std Dev

' S T

0.6911

ou 0|

Rati

=
T

|

k-

0.95%

LR o B i

0 10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation




	Contents
	Page 1


